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Q.1. From the following options, select the option
that is related to the third group in the following
series in the same way that the second letter
group belongs to the first letter group. 7
Meferted fashedt § & 39 fased &1 997 HL 9 ( ) \>
AT J@oT | 19 G99 o IHT Th1T Gaied g
ST HT AT THE Tad Fe 948 § Jaiad g (AYIKMO
NPRT : OQSU :: HJLN : ? (B)IKNO

(

(D

)IMKO
)KINO
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Q.2. In a code language, 'BOTANY"' is written as
'CQWBPB'. What will be the code for 'INSECT
iIn the same code language”?

T e AT #, 'BOTANY' %7 'CQWBPB' foraT ( — \>
STAT 21 IHT e AT H 'INSECT' & forw &z = §Q =

Er? /

(A)JPVFEW
(B)JPUFEW

(C)KQWGFX
(D)KRWGFX
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Q.3. In a particular code language, 'RIP' is written
as '42' and 'MOL' is written as '39'. What will be the

code for 'GAN' in the same code language”

T (A9 e AT H, 'RIP' &7 '42' 3 'MOL' %7 '39' (_ _”

feTeT ST g1 3ET Fe A1uT | 'GAN' # 17T e 1 M€Y/

AR \”
(A)21
(B)22
(C)23
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Q.4. Choose the number from the options given
below that will replace the question mark (?) In (’/—..-.\”5
the following series. R EY 1
A= QU U faehedl |§ § 98 AT 94 31 HHieried
JGAT H T =2 (?) 7 TATH <971

279, 277,273, 267, ?
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Q.5. If the two numbers given below are
interchanged, then which of the following will be

correct? ( = \>
Tia 71 &l T a7 GEAT3A [ M99 § dao [<IT S0, 8 €2
qr Mg d | & I |7 qaf 3?2
3 and 5

(A1 +9+3+5=09
(B 3+5-4x2=-1
(C)6+5x2-3=7
(D)33+4-1x5=2
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Q.6 Statement: All P are Q./ Tt P, Q gl
Some Qare Z./ %€ Q, Z gl
SomeZareT. /5 Z, T2

Conclusion: I. Some T are P./#= T, P 2.

. Some P are Z./ &= P, Z 2|

I.NoTis Z/®I5 T, Z 4l .

(A)Only conclusion |l follows.
(B)Both conclusions Il and IlI follow.
(C)Only conclusion | follows

(D)No conclusion follows.
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Q.7 From the given options, find the number
that comes |n place of the questlon mark.

fam . farshedt & & 57 e % #re o o et ( \3

AT 1T i1

(A
Eg
(D
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Q.8 Choose the letter pair from the given

options that will replace the question mark (?)

in the following series. ( = w
R0 T faehedi ® ¥ 98 AT T I ST HHieriagd :\':'-y ;
JGAT H T =2 (?) 7 TATH 9T =
MR, NU, OX, PA, ? (A)RE
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Q.9 Select the option that is related to the third
number in the same way as the second number is
related to the first number

39 TaFeT & SR F< ST Hf EIT § IUT THT
e Terd g STe L &7 Ugell 9T ¥ §e19d &
9:162 ::13:7

(A)290
(B)330
(C)390
(D)338
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Q.10 Six cars D, F, H, J, L and N stand around a circular path facing
the center (not necessarily in the same order). H is third to the right
of N. J is to the immediate left of D. F is second to the left of N. D is
second to the left of F. Which car is standing second to the right of
H?

Zg &1L D, F, H, J, L 3T N T 11T 99 & FT AL v hl 3T {E Fideh
@?r% (uw{i el st F#E A 2N H, NF a0 e s 9w gl J, D *

, N

2T 910 3T gl F, N = 910 3T Y €19 92 2| (A)F
| |1 AT H % T H qEL I G Gl 2? ( =~ (B)J
/_,/’z\f:\ - ‘\ (C) L

(DN
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Q.11 Six actors C, E, G, |, Kand M are sitting around a circular
table facing the center (not necessarily in the same order). M is
second to the left of G. E is second to the right of C. K is to the
immediate left of M. Who is sitting to the immediate right of E?

38 AEar C, E, G, |, K 3T M Teh AR HST 6 ATL AL 0 hl 3T
G ek 96 8 (TR qal foh 24T w7 H 2)1 M, G & 913 | gHL T 12
gl E, C % 3T & g8 19 9 2l K, M & 2% a1 gl E & 3% a1 31

T 5T 87
(o
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Q.12 From the following options, select the letter that has the
same relation as the letter pair given below.
T fashedt § & I 7&1T T 4+ L [STaeht 99 ;ﬁ?( &
AAL TH AT @ =
GOM : JSR :: ?

(AYCOB : FSG
(B)LAP : OFU
(C)MOP : PSV
(D)RAT : UFY
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Q.13 Choose the number from the options given below that will
replace the questlon mark (’?) in the following series.

= ﬁ’q T |o|ohw| H H 98 5T g4 S Aeferted %yeml :
(?) T TATT AT '
8, 8, 16, 48, ?
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Q.14 Choose the correct option that will complete the series.

98 "ol [hed I ST J@AT Sl TIT T
72, 83,95,108, ( D) \>
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Q.15 Five subjects R, T, V, X and Z (not necessarily in the same order)
are taught from Monday to Friday. Only one subject is taught in a day.
Only Z is taught before R. T is taught before X. T is not taught on
Wednesday. How many subjects are taught before V?

7= ATT R, T, V, X 3T Z (S&4 Aal o6 6l 7 | ) FHa § HRATE doh
TETd SITd gl Ueh & | U g1 (A0 U7 77 gl hdel Z & R § g G211
STAT 81 T 0 X | U8 92T S(TaT 2l T i JEaTE &l dal 9T Arar el V

I8l Tohad Ao 9210 S1a 82 (
( .:':':\\73 (

VLY. (

(

&0

\
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Q.16 Study the given pattern carefully and choose the
number that will come in place of the question mark

(?) in it. Cpmeas
QU T Tad T &ATYAH ALTTT el 3T ITH T = ( _“_.ﬁ

(?) 3 AT I 3T ATl T&AT &l AT FLl
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Q.17 Which two numbers need to be interchanged to make the
following equation correct? 5 An \
eterterd FHIHOT il Ggt a1 EnEAR I ) °h|\®|<&l:l:ﬁ.
ATFITHAT 572

Oox8+7-3=14
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Q.18 Select the option that is related to the third
number in the same way as the second number is
related to the first number ey

3 faeed 1 =T HF S AT He & 6T T N

HaTerd g STe L T Ugell 9T ¥ 9419d &

17 : 289 :: 31 : 7
A)1021

(

(B)941
(C)1089
(D)961
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Q.19 In a particular code language, 'PLANTS'
Is written as 'QNBPUU'. What will be the code
for 'KIDNEY" in the same code language?
q-oﬁ%iem Tz A ¥, 'PLANTS' &I 'QNBPUU’ (

[T STTAT g1 ST &e 9197 H 'KIDNEY' T %2 &3 :—5
?
& (A)LKEPFA
(B)LKFPFA
(C)MLEQGE

(D)MLFQGB
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Q.20 In a particular code language, 'POLE' is written
as '48' and 'ROG' is written as '40'. What will be the
code for 'TIP' in the same code language?

T'48' 3T 'ROG' 71 '40° ( l\\;%
/—.«5\'\— '/ ),

T TA9W e 97T H, 'POLE' #
[T ST g1 SHT %e AT § 'TIP' & 1T & AT g7
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